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' Subject - Mathematics

Full Marks : 50 Time : 2 Hrs.

1. Answer the following questions. AXT=7
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i)  Can collection of dangerous animals form a set? 1x7=7

vi)

vii)
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Are all relations from a set to another set form a function?

Justify your answer.
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Find the modulus of the complex N0 Z =1+4/3 . Is |2| =|- 2|?
Z=1+i«/§ wioe FRYIGR MeireT R 2] =|-2| ==
Find the sample space associated with the random experiment
of tossing a pair of coins once.

{51 Yt 1 B, ot AT G KRS effornef gt Refr 4t

e lel X fndx
PRI R

1 1 _x
zﬁ—6—!+—7—!—8! =, COU8 x I W Refy 1)

Write the equations for the x-axes and y-axes.
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Find the radius and centre of the circle whose equation

is x2+y?= 2.

Answer the following questions, ox4=
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i)

iv)
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CIf cosxX = T X lies in the third quadrant, find the values of

other five trigonometric functions.
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Using Binomial theorem, indicate which number is larger
(1.1)1%% or 1000.
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In the expansion of (1+a) ™", prove that co-efficient of a”
and a" are equal.
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Convert the complex number 1-i in the polar form.
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3. Answer any five of the following questions. 3x5=15
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i) Plot the graph of the following functions.
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ii)

iii)

a)f:R->R,f(x)=x

b) ffR-oR,f(x)=3

0 f:R-R, f(x)=! %x20
~X%x<0

Find the value of tan.134
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iv) P(a,b) is the mid-point of a line segment between axes. Show

that equation of the line is ~+7"=
y a
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Solve the following system of inequalities graphically
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vi) Out of 500 car owners investigated, 400 owned car A and
200 owner car B, 50 owned both A and B cars. Is this data

correct? Justify your answer.
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of the following questions. 5x4=20

4. Answer any four
A and B are finite sets, then prove that

w(AUB)=(A)+(B)=n(4N B).
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(AU B)= () n(B)~n(4N B).
prove the following by using the principle of mathematical

induction for all n ek
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vi)
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In an Arithmetic progression (A.P), if p* term is :I_ and g™ term
1 1

is';,provethatthesumofﬁrstpqtermsis E(Pqul).M'eere pP#q.
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Find the equation of the ellipse whose centre is (0,0) major

‘axis on the y-axis and passes through the points (3,2) and (1,6).
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If the p™, g and " terms of a geometric: progression (G.P) are
a,b and ¢, respectinely. Prove that 975" ?¢c”? =1-
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A college awarded 38 medals in football, 15 in basketball and
20 in cricket. If these medals went to a total of 58 men and
only three men got medals in all the three sports, how many
received medals in exaxtly two of the three sports?
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